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Check whethe the map T: R? — R? given by T'(x,y) = (x + ¥, x) is linear or not.

Dol Al s o AY el Jysai 3 bl oS

1 Tx+y)=Tkx)+T()
2. CT(x)= TC(x)

Solution:

Takeanyx = (x;,v,) ,y=(x,,7,) € R> and(C € R?

T(x+y)=T((x1, 1) + (x2,52))

=T + 22,51 +V2)

X Yy .
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= +x2+y1+y2, X1 +x3)
Lt ALl 3 p2)) e
=g tyi+x+y2, x+x)
=0+ ynx)+ (ot v, %)
=TC1+y,%) +TC+y,, x2)

=Tx) +T)

CT(x) =TC(x)
=TC(x1, 1)
=T(Cxy,Cyy)
: Lpdaa Jl ) A ) Allall (3 (i gailly
= (Cx; + Cyy,Cxq)
& i dole ¢ a2l
=C(x1 +y1,%1)
= CT(x1 +y1,2%1)
= CT(x)

A linear transformation




